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Problem quickname: 4896

)

Calculate the result by splitting the second number. Fill in the missing numbers.

a)24 — 5 24 S S b) 88 —9: 88 — S
)3M4-7 3H— — d)92-9: 92— ——
€)35—-6: 35— @ —— )93 -7 93 — @ ——
g)41 -5 41 —  —— h) 63 — 5 63 — @ ——
HTL—-8 Tl —  —— )82 —6: 82—  ——
2)

Calculate the result by splitting the second number. Fill in the missing numbers.

a) 44 —5: 44 S S b) 66 — 8: 66 — S
QT84T T8 T d) 67 +5 67—
) 66—9: 66—  — N8y 14 89—
g) 26 —9: 26 — —— h) 73 -6 73 — @ ——
)53 —-6: 53 — @ —— j)63—T: 63 — @ ——
3)

Calculate the result by splitting the second number, Fill in the missing numbers.
)55+ T 55— by13+8 13—
¢)33+9 33— T H15+7 15—
&) 2646 26— 7448 A Ty
91943 19— T D) 69+ 5 69—
N65+7 65— o T, HT64+8 T6—s
4)

Calculate the result by splitting the second number. Fill in the missing numbers.

a) 61 —T7: 61 — S b) 43 —8: 43 —— S
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)27 —8: 27 S S d) 71 -2 71 — S
e)45 -7 45 ——  —— )12 —7: 12 s —
g)37—9: 31— —— h)23 -5 23— @ ——
iy21—4: 21 — —— j)83—4: 83 —— @ ——
Good Luck!
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